CHRISTMAS

WORID PROBILIERMIS 9

Solve the following word problems.

At a Christmas party, there are 4 girls, 5 boys and 7 adults. How many
party-goers are there in all?

There are 16 boys and girls singing Christmas songs. If 4 singers go
home, how many are left now?

There are 3 little girls playing in the snow. If each girl 1s wearing 2 mittens,
how many mittens are there in all?

Tommy goes to bed at 8:00 p.m. on Christmas Eve and wakes up at 6:00
a.m. to open his presents from Santa. How many hours did Tommy sleep?

A kindergarten class visits a Christmas fair. If 5 of the children buy
wreaths, and twice as many buy ornaments, how many children buy
ornaments?
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